[image: image1.png]



The following questions (1-9) are to be answered using chart 12221 TR, Chesapeake Bay Entrance, and supporting publications.

Your vessel is enroute from New York, NY, to Baltimore, MD.  Your present course is 206° true, and your speed is 18 knots.  Your vessel's draft is 29 feet, and your height of eye is 54 feet.  Use 10° W variation where required.

1.
At 0725 you determined your vessel's position to be  37°15.5' N, 75°33.2' W.  Assuming that you make good your course of 206° true and a speed of 18 knots, at what time would you expect to be abeam of Cape Charles Lighted Bell Buoy "14"?

A.
0750

B.
0754

C.
0758

D.
0802

2.
In reference to the above problem, at about what time will you see Chesapeake Light if visibility is excellent?

A.
It is already visible at 0725.

B.
0730

C.
0737

D.
0742

3.
From your 0741 position, you wish to change course in order to pass 2.2 miles east off Cape Charles Lighted Bell Buoy "14".  Your engine speed is now 14.0 knots.  You estimate the current to be 240° true at 1.8 knots.  What is the true course to steer to make good the desired course?

A.
179° true

B.
185° true

C.
191° true

D.
197° true

4.
At 0811 your vessel's position is 37°04.9' N, 75°39.7' W.  You are steering a course of 220° true at a speed of 14.0 knots.  At what time would you expect the buoys in the northeasterly traffic scheme to line up, if you do not correct for a southwesterly current of 1.8 knots?

A.
0826

B.
0831

C.
0837

D.
0846

5.
At 0841 Chesapeake Light bears 164° true, Cape Charles Light bears 312° true, and Cape Henry Light bears 247° true.  What was your course made good since 0811?

A.
226° true

B.
230° true

C.
233° true

D.
237° true

6.
From your 0841 position, you are steering a course of 241° true to the northeasterly inbound channel entrance, your speed is now 15 knots.  What is your ETA abeam of buoy "NCA" (LL#375)?

A.
0850

B.
0855

C.
0901

D.
0911

The following problems are to be answered by plotting on chart 12221TR, Chesapeake Bay, and using supporting publications.  

	DEVIATION TABLE FOR CHART 1221 - REVIEW

	HDG-MAG
	DEV
	
	HDG-MAG
	DEV
	
	HDG-MAG
	DEV
	

	000(
	2(E
	
	120(
	1(E
	
	240(
	3(W
	

	030(
	3(E
	
	150(
	1(W
	
	270(
	1.5(W
	

	060(
	4(E
	
	180(
	2(W
	
	300(
	0(
	

	090(
	2(E
	
	210(
	3.5(W
	
	330(
	1.5(E
	


VARIATION IS 9(W

7.
At 1256, your GPS shows your position as LAT 36(57.0' N, LONG 75( 41.0' W.  At 1331, its shows your positions at LAT 37(07.5'N, LONG 75(39.1(W.  What was your speed made good between the fixes?


A.
14.6


B.
15.2


C.
16.6


D.
18.3

8.
Your are on course 056( per magnetic compass when you take the following bearings per magnetic compass:


Cape Henry Light - 262(

Cape Charles Light - 344(

Chesapeake Light - 125(
What is your location?


A.
LAT 36(58.4' N, LONG 75(49.1'W


B.
LAT 36(58.1' N, LONG 75(50.0'W


C.
LAT 36(57.8' N, LONG 75(49.2'W


D.
LAT 36(57.6' N, LONG 75(49.8'W

9.
At 1739, your GPS set indicates a position of LAT 36(55.2' N, LONG 75(33.1' W.   You are on course 281( PSC at a speed of 9.2 knots.  At 1818, your GPS indicates your position as LAT 36(54.8' N, LONG 75(39.8'W.  What was the set and drift?


A.
130( at 1.2 k


B.
156( at 0.6 k


C.
352( at 1.3 k


D.
335( at 1.0 k

10.
What type of bottom can be expected at the northern end of York Spit Channel?


A.
Hard Clay


B.
Fine grey sand


C
Soft black mud


D.
Mud and sand

11. Coast Guard regulations require that all of the following emergencies be covered at the periodic drills on a fishing vessel EXCEPT ________.

A. minimizing the affects of unintentional flooding

B. fire on board

C. rescuing an individual from the water

D. emergency towing

12. The rescuer can best provide an airtight seal during  mouth-to-mouth resuscitation by pinching the victim's  nostrils and _____________.

A. cupping a hand around the patient's mouth

B. keeping the head elevated

C. applying his mouth tightly over the victim's mouth

D. applying his mouth tightly over the victim's mouth

13. Which shallow water effect will increase dramatically if you increase your ship's speed past its "critical speed"?

A. Squatting

B. Smelling the bottom

C. Sinkage

D. Bank cushion

14. The effect of wind on exposed areas of the vessel is most noticeable when _____________.

A. Backing

B. going slow ahead

C. going full ahead

D. turning

15. Most of your vessel's superstructure is forward. How will the vessel lie when drifting with no way on?

A. With the wind from ahead

B. With the wind off the port beam

C. With the wind off the starboard beam

D. With the wind from abaft the beam

16. The turning circle of a vessel making a turn of over 360 degrees is the path followed by the _____________.

A. Bow

B. Bridge

C. Centerline

D. center of gravity

17. You can safely step in the bight of a line ______________.

A. when it is not under strain

B. if both ends are made fast

C. in an emergency

D. at no time

18. A look-out should report objects sighted using _____.

A. true bearings

B. magnetic bearings

C. gyro bearings

D. relative bearings

19. How does the effect known as "bank suction" act on a single-screw vessel proceeding along a narrow channel?

A. It pulls the bow toward the bank.

B. It pushes the entire vessel away from the bank.

C. It pulls the stern toward the bank.

D. It heels the vessel toward the bank.

20. The helm command "meet her" means _____________.

A. use rudder to check the swing

B. decrease the rudder angle which is on

C. steer more carefully

D. note the course and steady on that heading

21. Flame screens are used to _____.

A. contain flammable fumes

B. protect firefighters from flames

C. prevent flames from entering tanks

D. keep flames and sparks from getting out of an engine's  exhaust system

22.  The easiest way to anchor a vessel in a current is to _____________.

A. stem the current and make very slow headway when the anchor is dropped

B. stem the current and be falling aft very slowly when the anchor is dropped

C. stem the current and endeavor to make neither headway nor sternway when the anchor is dropped

D. stop all headway through the water and keep the current  astern when the anchor is dropped

23. You need to make a fixed loop at the end of a line in order to use the line as a mooring line. You have insufficient time to make a splice. Which knot should you use?

A. Clove Hitch

B. Fisherman's Bend

C. Bowline

D. Round-turn and two half hitches

24. Using a scope of 5, determine how many feet of cable you should put out to anchor in 5 fathoms of water.

A. 100 feet

B. 150 feet

C. 200 feet

D. 250 feet

25. The single turn method of returning to a man overboard should be used ONLY if ______________.

A. the man is reported missing rather than immediately seen as he falls overboard

B. the vessel is very maneuverable

C. the conning officer is inexperienced

D. a boat will be used to recover the man

26. A sheave is a _____________.

A. grooved wheel in a block

B. line to hold a lifeboat next to the embarkation deck

C. partial load of grain

D. seaman's knife

27. A "spring line" is ___________________.

A. any wire rope used for mooring 

B. a fire-warp

C. a mooring line running diagonally to the keel

D. a mooring line perpendicular to the keel

28. The metal, teardrop-shaped object sometimes used within an eyesplice is a __________.

A. Grommet

B. Reinforcement

C. splice form

D. thimble

29. The Safety of Life at Sea Convention was developed by  the __________.

A. U.S. Coast Guard

B. American Bureau of Shipping

C. International Maritime Organization

D. American Institute of Maritime Shipping

30. "Stand" of the tide is that time when _____________________.

A. the vertical rise or fall of the tide has stopped

B. slack water occurs

C. tidal current is at a maximum

D. the actual depth of the water equals the charted depth

31. Spring tides are tides that _________________.

A. have lows lower than normal and highs higher than normal

B. have lows higher than normal and highs lower than normal

C. are unpredictable

D. occur in the spring of the year

32. What does the term "tide" refer to?

A. Horizontal movement of the water

B. Vertical movement of the water

C. Mixing tendency of the water

D. Salinity content of the water

33. The datum used for soundings on charts of the East Coast of the United States is _____.

A. mean low water springs

B. mean low water

C. mean lower low water

D. half tide level

34. The difference between the heights of low and high tide  is the __________.

A. Period

B. Range

C. Distance

D. Depth

35. A tide is called diurnal when _____________.

A. only one high and one low water occur during a lunar day

B. the high tide is higher and the low tide is lower than usual

C. the high tide and low tide are exactly six hours apart

D. two high tides occur during a lunar day

36. The lunar or tidal day is ___________.

A. about 50 minutes shorter than the solar day

B. about 50 minutes longer than the solar day

C. about 10 minutes longer than the solar day 

D. the same length as the solar day

37. A position obtained by applying only your vessel's   course and speed to a known position is a ________.

A. dead-reckoning position

B. fix

C. probable position

D. running fix

39. An alternating light ____________.

A. shows a light with varying lengths of the lighted period

B. shows a light that changes color

C. marks an alternate lesser-used channel 

D. is used as a replacement for another light

40. How many fixed objects are needed to plot a running fix?

A. None

B. One

C. Two

D. Three

41. You are steering a southerly course, and you note that the chart predicts an easterly current. Without considering wind, how may you allow for the set?

A. Head your vessel slightly to the right

B. Head your vessel slightly to the left

C. Decrease your speed

D. Increase your speed

42. Neap tides occur ____________.

A. at the start of spring, when the Sun is nearly over the  equator

B. only when the Sun and Moon are on the same sides of the  Earth and are nearly in line

C. when the Sun and Moon are at approximately 90° to each  other, as seen from the Earth

D. when the Sun, Moon, and Earth are nearly in line, regardless of alignment order

43. Your vessel is leaving New York harbor in dense fog. As the vessel slowly proceeds toward sea, you sight a green can buoy on the starboard bow. Which action should you take?

A. Turn hard right to get back into the channel.

B. Pass the buoy close to, leaving it to your port.

C. Stop and fix your position

D. Stand on, leaving the buoy to your starboard.

44. Which publication would describe the explosive anchorages in the ports on the east coast of the United States?

A. Sailing Directions

B. Pilot Rules for Inland Waters 

C. Coast Pilot

D. Notice to Mariners

45. Most GPS receivers use the doppler shift of the carrier phase to compute _______________.

A. Latitude

B. Longitude

C. Speed

D. Time

46. What is the relative bearing of an object broad on the starboard beam?

A. 045°

B. 060°

C. 075°

D. 090°

47. Privately maintained aids to navigation included in the  Light List ___________.

A. are painted white and must use a white light if lighted

B. must be conspicuously marked by a signboard with the words "PRIVATE AID"

C. must conform to the standards of the U.S. Aids to Navigation System

D. are not permitted in or along first-class waterways and may be authorized for second- and third-class waterways

48. What is the calling and distress frequency on a single side band (SSB) marine radiotelephone? 

A. 1492 kHz

B. 1892 kHz

C. 2082 kHz

D. 2182 kHz

49. When daylight savings time is kept, the time of tide and current calculations must be adjusted.  One way of doing this is to __________.


A. 
add one hour to the times listed under the reference stations


B. 
subtract one hour from the time differences listed for the subordinate stations


C. apply no correction as the times in the reference stations are adjusted for daylight savings time
D. add 15° to the standard meridian when calculating the time difference

50. The Light List indicates that a light has a nominal range of 14 miles and is 26 feet high.  If the visibility is 14 miles and your height of eye is 20 feet, at which approximate distance will you sight the light?


A.       7.5 miles


B. 11.2 miles


C. 14.0 miles


D. 18.1 miles
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